


1 <+ <+ N «

M < 0O O© N~ N~ 0 O

o
—

o
—

i
i

N
i

™
—

™
—

<
—

L0
—

©
-

17
18
18
19
20
21

22
23



25
26
27
28
29
30
31

32
33
34
35

37
38
39
40

41

42

43

45



(1)

(2)
65 18,000
25
5,00
25
7,80
2510 251031
4,070
611
(3)



(3)

(4)
(# (b (¥ (d) =(Ch)(-e)c=(¥
18,000 10,120 36 9, 85 54 %
2,06
38
99
5,00 2,85 16 2,10 54 %
7,860 4,88 58 3,89 50 %
4,07 2,60 0 2,60 6 1%
61 43 2 43 77 %
(5)
10
MA Mul tiple Answer LA

Limited Answer

A O O O






8 4

8 51

NS RN
A w
W,

7074

75

6569

65

(N 88 %)

(N 85 8)

0% 20% 40% 60% 80% 100%

(N 88 %)

(N 85 8)

0% 20% 40% 60% 80% 100%

(N= 9 8)5

(N= 6 5)3

0% 2 9



24 40

500 r 9 815
400 He+d [..] Feee) ____— B VRN SN e __ DO ¥ v SO
300 |

412| [420| |428| |405| |414| [394| [392| [390| [408| [352| [382| |423| [422| [393| [344| [425| |405| [428| |425| [386| (421 [416| [409| (353
R e T e S e e e e

20
31
65 3 45.
2 80.
(N= 9 8)5kE

0%

6 610

1 &%




( 5. (
) 4.6
( :
)l ‘ ‘
02 }
40 156 29
( 98 26
02
43 18 11
( 6 553 12 j
0% 2o 4 @ 6 @ 8 10
( ) 3.8 0. 4
) 2 S I 5 ]
6 553 35 42 31
0% 2 % 4 0o 6 % 8 o 1 0%
277 49 35 21 28 13 11 08 07 38 446 6.7
315 53 34 22 26 15 13 10 08 32 442 31




7 45.
(12.)3 86. 8

33
32
(N= 9 8)5 12
33
_ 19
(N= 6 5)3 17
0% 2 % 4 % 6 O 8 @ 1 0%

6 87.
(89.)

(N:98)5

(N= 6 5)3[88

0% 2 % 4 % 6 90 8 &% 1 0%




10

11
5 96.
5 47.
4 61. 4 59,
(MA ) 9 815
596
60 — 547
— 505 498
- 41.0 - — P21 P20 411— 0
40 1 ] ] 276
290 281 ’ 267
1.2
20 F 13 111123
41 35
15 14 I_I
O L
12
1 21-
5 21.
(15.)9 N= 9 8
( 1 8 . )7 I J
8 67. o 2 0 4 o 6 0 8 o 10%
60. 5




16

1 61-
4 80.
7 5.5
38 43 4.0
31 40 22
0% 2 % 4 O 6 % 8 M 1 0%
|
5 95,
(56.)8 (49.)0
(39.)3
MA
o 595 g o
49.0 > 920
" 393 4
22.5 199 197
20
10.3
67 67 58 55 52 25 14
0 IR . 1 N T I e ey




182

4 74.

MA )
60

40

20

9 815 47.4

18.2
! MT g
342 40 .3 g 45 6.9

193

3 79.

(MA
40

20

)
M 9 815

37.9




3 2L

28.1

40

30

20

10

9 815

321

3 47.

3 33

A
)
40 ¢ 9 815 -
) 333
294 304
30 -
23.6
207 204 19.8

20 14.8 14.4

; 10.9 121 . . 9.7 106
1 . :

: i_‘ 18 18
o 1 1 1 1 1 1 1 1 PN I )

10




26

5 19.

6 52.

9851

0%

27

20%

40%

9851

0%

20%

40%

11

60%

80%

100%




